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1. Given that sina = —-,a € Qlll,and tanb = —, b € QI, find sm(a b).
Sip (a-b) = 5|na cosb cosa smb
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3. Evaluate sin~? (— ?) Give the answer in radians.
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2. Find the exact value of cos212°cos122° + sin 212°sin 122 7
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3. Find sin 26, cos 28, and tan 260 given that cos 8 = 1— and @ is in Quadrant IV.
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4. Given sina = %, a is in Quadrant Il, cos f = — E ,and f is in Quadrant lll, find sin(a + B).
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5. Find tan™?! (— is) exactly in radians.

\,’_
> | = —~TT
\ 3 —
o°, (0
a2\ 7!
2
Cosbs
]
6. Evaluate cos (csc'1 2
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7. Find all solutions (in radians) in the interval 0 < x < 2m. sin?x — i 0
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8. Find all solutions (in radians) in the interval 0 < x < 2m. 2sin®x = sinx

Isitx—sinx =0

SINX (Qsmx 1> Q

SINX=0O sintx = :LL
LX= O, 1’17 SINX =+

9. Prove the identity.

1+ cos? x
sin? x

=2cscix—1
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10. Prove the identity. cscx — cosx cotx = sinx

Bonus (10 points): Find all solutions (in radians) in the interval 0 < x < 2m.

sin3x +sinx —sin2x =0
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